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One of the following is not the basis for formation of attitudes
1. Integrating experiences

2 Differentiating experiences

3. Sudden incidents
4

Rejecting available attitudes
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According to Erickson the Psychosocial critical situation,
‘Initiative Vs Guilt’ is present in the children of this age

group.
1. 1%, — 3 years
2 6 — 12 years
3. 3 — 6 years

4 12 — 20 years
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One of the following is not a social factor that influences
student’s learning

1. Self control of the student

2 Stress felt by the student

3. Social maturity of the student
4 Heredity of the student

egY eeigdT (HerN0 T APONE SBEO IO
1 Z)wagg B0, eﬁé&i)@i‘;?o

2 g0l SOR 2.8

3. Z)CS°§Q) SBoo¥), FowE RlerE

4 Z)wagg SB0E), WIOI0BES



‘Social Smarts’ are

1. Persons with interpersonal intelligence

2 Persons with naturalistic intelligence

3. Persons with Bodily kinaesthetic intelligence
4

Persons with Intrapersonal intelligence
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At this level of Kohlberg’s moral development, the morality
will be assessed in terms of physical punishment

1. Pre conventional morality

2 Post conventional morality

3. Conventional morality

4 Natural conventional morality
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In-spite of her visual impairment Helen Keller got fame as a
great writer. The defense mechanism that applies here is

1. Identification
2. Displacement
3. Compensation

4. Regression
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According to Golman ‘the skills Reliability, Adaptability,
Innovations’ come under this dimension of emotional
intelligence

1. Self awareness
2. Self motivation
3. Self regulation
4. Empathy
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The fear of tall buildings and places belong to this type of
phobia

1. Acrophobia
2. Monophobia

3. Claustrophobia
4. Haemotophobia
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Objectivity is more in this method
1. Introspection

2. Experimental

3. Observation

4. Interview
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In the experiment ‘The influence of memory on student’s
achievement’ the dependent variable is

1. Students achievement
2 Memory

3. Health

4 Home work
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The psychologist who expressed that a child is born with
‘Language Acquisition Device’ - LAD

1. Bandura
2. Chomsky
3. Rogers

4. Vygotsky
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The characteristic features of a person having Integrated
Personality is

1. Impatience

2 Despair

3. Social instability
4 Foresight
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This statement is not true with regard to the class room
implications of Piaget’s cognitive development theory

1. Process is important rather than answers
2. Teaching the lesson basing on the readiness for
learning

3. Preparing the children to think like elders
4. Accepting the individual differences in progress and

development
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The difference between child’s own capacity of performance
and the capacity of performance achieved with the
cooperation of more knowledgeable people is called as

1. Zone of Proximal development
2 Zone of distant development

3. Zone of middle development
4

Zone of Temporary development
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As per Gilgord’s classification the people who learn easily
performing experiments and enacting are called

1. Bodily Kinesthetic learners
2. Auditory learners

3. Visual learners

4. Special learners
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This is a contrary concept with regard to classroom

implications of insight learning

1.
2.

Drilling should be encouraged

Construction of knowledge should be made in the
students

Motivate students towards learning

Importance should be given to whole aspect rather
than parts
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A driver with a habit of driving vehicle with right side

steering was given a vehicle with left side steering suddenly.
The type of transfer of training in this case is

1.

2
3.
4

Negative
Positive
Zero

Bilateral
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The reappearance of a conditioned response to conditioned
stimulus in Pavlov’s experiment after extinction for a period

is called,

1. Extinction

2. Spontaneous recovery

3. Higher order conditioning
4. Discrimination
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‘Teaching machine’ is the result of this theory

1.
2.
3.
4.

Classical conditioning
Trail and Error learning
Operant conditioning

Insight learning
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The correct sequential order of steps in Bandura’s Social
learning

1. Retention, Attention, Performance, Reinforcement
2 Performance, Retention, Attention, Reinforcement
3. Attention, Performance, Retention, Reinforcement
4 Attention, Retention, Performance, Reinforcement

20T FOMWE YFOIOS” FrTo VEFOS WD (E500

1 T8, BITIO, JLYES, YILYOI0
2 QAL)ES, e, BIFSO, PIGYOIO
3. VST, ALYES, T°Tes, YILYOS0
4 VST, FrEEd, JLYES, YIGYOS0

Reading the dramas of Shakespeare for the purpose of
examination is

1. Intrinsic Motivation

2 Extrinsic Motivation

3. Achievement Motivation
4 Artificial Motivation
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This is not a reason for forgetting
1. Concentration

2. Interference

3. Repression

4. Disuse
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As per RTE Act - 2009 and Rules of Government of
Andhra Pradesh the Upper Primary school should exist in the
habitation within a radius of

l. 1 km.
2. 2 km.
3. 3 km.
4. 5 km.
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One of the following is a Group learning method

1. Discussions

2 Distance learning

3. Resource based learning
4 Programmed learning
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The counseling method which was constructed on the basis of
the presumption that the counselee has the capacity, reasoning
and the counselee needs only support from the counselor to
utilize them is

1. Directive
2 Non directive
3. Eclectic
4

Authoritative
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According to Heather’s theory, the first level in inquiry based

learning is

1. Structured inquiry

2 Confirmation inquiry
3. Guided inquiry

4 True inquiry

B8 BITOSO (FSVO SHRETS S LgOS0S” 53y on

1

2
3.
4

506"&8?95&§ i Enitetar!

:00;68’3 AT

SEJVES deSer
N Q

Q2R 3%58@

This is not the characteristic of collaborative learning class

room
1.
2.
3.

4.

Students work interdependently

Co-operation among the students is less

Personal responsibility and accountability exists in
students

Students solve the problems by working in groups
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The Resource model of Teaching in Inclusive education
takes place through

1. Regular teacher + Resource teacher

2 Regular teacher + Itinerant teacher

3. Regular teacher with specialized training
4

Teaching through distance programmes
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According to Bruner this is not related to the sequential order
of methods for providing subject related learning content

1. Enactive method
2. Iconic method

3. Symbolic method
4. Insight method
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30.

The following is a  situation  which
‘Teacher Centered classroom’

1. Evaluation is an independent process
2 Importance to results only

3. Activities are selected by students

4

Construction of knowledge takes place
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62.

63.

The officer noticed many mistakes in the document in his
scrutiny.

Choose the meaning of the word, ‘scrutiny’ in the sentence

above.

1.

2
3.
4

Property acceptable as security for a loan.
Close and careful examination.
Quality of being stubborn.

A strong feeling in favour of others.

Tagore was a versatile person.

This sentence says that;

1.

2
3.
4

Tagore possessed many talents.
Tagore wrote poetry only.
Tagore could not write novels.

Tagore helped many people.

Choose the prefix that means ‘forward’.

Ll

bene -
pro -
mono -

intro -



Choose the word with wrong spelling.

1. Jubilant
2. Favourite
3. Fabric

4. Choros

Identify the word with the same pronunciation as ‘some’.

1. Came
2. Sum
3. Come
4. Shame

He was a brilliant student right from the start.
Choose the antonym of the word ‘right.’

1. Wrong

2 Left

3. Inexactly
4 Stright

This old man brought up an orphan.
Choose the meaning of the phrasal verb “brought up.”

1. Raised
2 Praised
3. Rose

4 Arose
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70.

We eat that we may live.

The purpose of using ‘may’ in this sentence is;

l. to express purpose

2 to express permission
3. to express concession
4 to express doubt

ThisSiS covvvvevnnnnn... universal truth.

Choose the correct word to fill the blank.

l. a

2 an

3. the

4 No article is needed.

Don’t throw stones ........ birds.

Choose the correct preposition that fits the blank.

1. on

2 at

3. to

4 with
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72.

73.

No one knows who stole the watch.

This sentence has;

1. a relative clause

2 a defining relative clause

3. a noun clause

4 a noun phrase in apposition

Don’t make a noise.

This sentence indicates;

l. a request
2 a wish
3. an order
4

a statement

He will be coming.

The correct question tag for this sentence is;

1. didn’t he ?
2 won’t he ?
3. doesn’t he ?
4

will he ?
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76.

Choose the sentence that ends with a question mark.

Lol

Don’t go there
Don’t you go there
Do what I say

I shall meet him

Ram says to Sita, “ I like Coffee.”

Choose the reported speech of the sentence above.

1. Ram asks Sita if she likes coffee.

2 Ram says that Sita likes coffee.

3. Ram said to Sita that she liked coffee.
4 Ram tells Sita that he likes coffee.

A lot of money ............... wasted.

Choose the correct form of verb to complete the sentence.

1.

2
3.
4

arc
WCEre
was

have
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79.

80.

The poem ............. in 1998.

Choose the correct tense form that fits the blank.

l. wrote
2 writes
3. was writing
4 was written

Choose the noun form from the following.

1. pavement
2. amazed
3. deserve
4. passed

Choose the linker that can be used to indicate sequence.

l. Yet

2. Secondly

3. On the other hand
4. All the same.

He signed the agreement. That was foolish.

The meaning of these two sentences can be conveyed as;

1. He foolishly signed the agreement.

2 The agreement was foolish to be signed.
3. He was fooled because of the agreement.
4

The agreement made him a fool.
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83.

&4.

Choose the grammatically correct sentence from the

following.

1. When you saw the movie?
When do you saw the movie?

When did you see the movie?

Ll

When did you saw the movie?

I had about sixty rupees in my suitcase

This sentence can be ended with;

1. a full stop
2 a question mark
3. a comma
4

an exclamatory mark

Inverted commas are used;

1. to separate the clauses
2. to mark the exact words of a speaker
3. to avoid the repeation
4. to mark off the nominative of address

Choose the sentence in passive voice.

1. Fleming discovered penicillin.

2. Fleming was discover penicillin.

3. Penicillin was discovered by Fleming.
4. Penicillin was discover by Fleming.
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86.

87.

Alexander was .............. soldier in the world.

Choose the correct expression that fits the blank.

l. so great as

2 the greatest
3. the greater
4

as great as

I request you to attend my elder sister’s marriage on 7" of
next month along with your family.

The above information appears in;

1. a story about a marriage
2 a letter of invitation

3. a diary entry
4

an essay on marriages.

Choose the list of words in correct alphabetical order.

1. go, went, gone, going
2. going, gone, went, go
3. went, gone, going, go
4. go, going, gone, went
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People had to welcome in gloomy colours.

Choose the synonym of the word ‘gloomy.’

1.

2
3.
4

dirty
muddy
bright

sad

Read the following passage and choose the correct
answer to the question.

Glenn Cunningham was a good runner. In races at school, he
ran faster than his friends. “I want to become the fastest
runner in the world,” Glenn told himself.

One day, there was a big fire at Glenn’s school. His

legs were burnt very badly. The doctors looked at his legs and
said that he would not be able to run again.

The determination of Glenn was;

1.

2
3.
4

to save the burning people.
to create fire at school.
to become the fastest runner in the world.

to burn people very badly.



90.

Read the following passage and choose the correct
answer to the question.

Glenn Cunningham was a good runner. In races at school, he
ran faster than his friends. “I want to become the fastest
runner in the world,” Glenn told himself.

One day, there was a big fire at Glenn’s school. His
legs were burnt very badly. The doctors looked at his legs and
said that he would not be able to run again.

Glenn ran faster than his friends because;

1. he wanted to stand first.

2. he wanted to escape from the fire.
3. he wanted to meet the doctor.

4. he wanted to burn his legs.
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If A, B are disjoint sets. n(A) =4 and n(A uB) = 7 then n(B)

is equal to

A, B e da5ng véen. n(A) =4 58d50 n(AUB) =7

9005 n(B) Jews

1. 4
2 11
3. 3
4 20

If 2log(x + 3) = log81 then the value of x.

2log(x +3) = log81 @00 x BoE), IS

1. 6

2 5

3. 7

4 8

If V2 =1.414 then the value of ! 18
22

V2 = 1.414 eons ﬁ Boo). Dens

1. 0.0352

2. 3.541

3. 0.3535

4. 02525
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If one zero of the quadratic polynomial 2x* + Kx — 15 is 3

then the other zero is :

267+ Kx — 15 @080 SPaudd Gnl) a8 S 3 ©oos
CEEREISY

T
2
2.5
R
2
4. -1

a;x + byy + ¢; = 0; ax + byy + ¢, = 0 are two straight lines.

it &= L . , then the lines are
a, b, ¢

1. Intersecting lines

2 Parallel lines

3. Coincident lines

4

Perpendicular lines

aix + by +¢; =0; a,x + byy + ¢, = 0 Do DETpew.
Gq_b_<a IS €5 TPEV
a, b, ¢,

1. po&sS Bpew

2 VS0esS Dpen

3. 5455203 Bopen
4

©02) BV



96.

97.

98.

If the area of a square is 4489 sq.cm then its length of the side

is (in cm)

28 SSYRI0 @Y, PogEn 4489 $00.0. ©O0S T
&HzI0 P& (0.2.08°)

1. 57
2 67
3. 35
4 43

The numbers 10, 12, 14, x-3, x, x+2, 25 are in ascending

order. If the median is 15 then the value of x is

10, 12, 14, x-3, x, x+2, 25 Soggen e8res (§5008° 03,
GBS0 15 008 x Foo¥), e

1. 16
2 15
3. 17
4 18

If A=4x"+y> —6xy; B=3y"+ 12x° — 2xy
Then 2A + B is equal to

A=4x>+y’ —6xy; B=3y"+ 12x" — 2xy @003
2A+B § 35375058

1. 20x* — 5y° — l4xy
2 20x* + 5y* — 14xy
3. 15X —4y* + 12xy
4 ~15x* + 4y* + 2xy



99.

100.

101.

If difference of two supplementary angles is 34° then smaller

angle is (in degrees)

BOED HDoIrSE Sfeee 35550 34° eanS a@?m;ﬁn

(&S
l. 63
2 53
3. 43
4 73

If 125 x 57 =1 then the value of xis

125 x 57 =1 @ans x @), oo

1.

2
3.
4

10
-10
7
7

One of the exterior angles of a triangle is 125° and the interior

opposite angles are in the ratio 2 : 3 then one of the interior

angle is (in degrees)

IO z:°§7°§§sea;i>o 125° o8 A0 Hod
©0BCS0P §ero QG 213 wonS 8 ©oSorDIv
erod’ 258 (&hes’)

1.

2
3.
4

38
48
50
58



102. If Tan 0O = L then 7 Sin® 6 + 3 Cos” 0 is equal to

V3
Tan 0 = L ©00S 7 Sin” 0 + 3 Cos” 0 SB0Y). S
V3
1. 1
2. 2
3. 3
4, 4

103. If Cos A = % then the value of Sin A is

Cos A= % 9003 Sin A ®o§zr RISOIN

L2
13
2 2
13
. B
5
s 2



104. If a die is rolled, then the probability of getting an even

number is

28 JAED S"BONSYE NISIE o°S3ed8 eI

L1
6
2 2
3
3. 2
5
s L
2

105. If (-1, 5) is the midpoint of the line joining the points (-4, a),
(2, 8) then the value of ‘a’ is
(-4, a), (2, 8) DotoH 50 Tp ;536.552‘1)0653@ -1, 5)
oS ‘2’ BE). I

1. 1

2. 2
3. 3
4. 4



106.

107.

The area of the triangle with vertices (t, 2t), (-2, 6), (3, 1) is
5 sq. units then the value of ‘t’ is

(t, 2t), (-2,6), (3, 1) %q:)e)és Ko (&zhes é%"@&;in

5 25.0500°0€ @00S 1T BE), JLI

L4
2
-
2
3. 2
4, 2

If three angles of a quadrilateral are 60°, 80° and 120° then the

fourth angle is (in degrees)

2.8 S DY), S &fezen 60°, 80°, 120° 90203
T35 800 (&lfod)

l. 80
2 90
3. 95
4 100



108. In geometric progression the 8" term is 192 and common

ratio is 2 then first term is

2.8 KoeaEeS° 85 9250 192 50805 FISy INE 2 eond

F0EE Do
1 3
2
2. L
2
3 2
4, 3

109. If the 17" term of an Arithmetic Progression exceeds its 10™

term by 7 then the common difference is

28 @05[@&S" 175 10, 105 50 K08 7 55 @0

SRV 25¢cs0
1. 4
2 3
3. 1
4 0

110. Discriminant of the quadratic equation 2x* — 4x + 3 =0 is
3G BWEGe 2 —4x +3=0 @oo¥), JIFEd

1. -8
2 8
3. 0
4 15



111.

112.

113.

The length, breadth and height of a cuboid are equal to 15cm,
12cm, 10cm respectively, then its total surface area is
(in cm?)

28 &g):w:s;sw Boo), D, ISy $00050 e SKHI

15 20.20, 12 20.20, 10 20.2 @ons o NSOMeLTS
BTogn (R0l 08"

l. 700
2 800
3. 900
4 890

G.C.D of 72, 252 is 36 then their L.C.M is
72,252 © K50 36 @008 3083 .05

l. 405
2 504
3. 325
4 175

If the slope of the line joining the points (2, 5) and (x, 3) is 2

then the value of x is

(2,5) 088 (x, 3) DotHHOS 50D TP Trew 2 ©0o0S
X @o§zr IISUIN]

1. 3
2. 2
3.1

4, -1



114. AABC ~ ADEF and their areas are respectively 64 cm” and
121 cm®. If EF = 15.4 cm then BC is equal to (in cm)

AABC ~ ADEF 50805 o3 3Tegsoen SHd
64 <5250.2 508350 121 $5.20.2, EF = 15.4 0.5 e900S
BC &%), de0¥ (R0.2.08°)

1. 12.2
2 11.2
3. 10.2
4 4.5



115. The word “Mathematics” is derived from the following Greek
words

(A) Techne (B) Arsmathematica (C) Manthanein

1. A&B
2. B&C
3. C&A
4. A,B&C

“Mathematics” 950 950 (A% gPaS™ s doroood
ERAMBNE

(A) Techne (B) Arsmathematica (C) Manthanein
1. A S8 B

2 B So08as» C

3. C Hdaw A

4 A, BX8as» C



116. The specification “Translates” belongs to this objective

1. Skill

2 Application

3. Understanding
4 Knowledge

“@R0IROBE” B ASTE Be OFINSD TodIO

1. g@ngm
2 RNesbuhtel
3. (ONTARLN]
4 AN

117. The characteristic feature that belongs to “Synthetic Method”
is
1. Hypothesis to Conclusion
Specific to General

2
3. Concrete to Abstract
4

Example to Principle
DOTREd DEBS BoBS OFEISN
™ fon} aQ

. S5°0%0 00 FPoP0FOSK

2. OB 00 08 PerSe IANTOD
3. J0gdo 00k @Xrgas

4 GOPIPTEY 00G& JONFSNSK



118.

119.

The first step of the lesson plan as per “Herbartian Approach”

1.

2
3.
4

Presentation
Application
Association

Preparation

TPONPODS EHAZI0STIVO0D FEFHEE SIS J005

DTS20

1. é;SJCSQsa

2 @5030530

3. DOJdTo
N

4 és;):?o

Following is the demerit of the oral work

1.

2
3.
4

Previous knowledge of the students can be tested
Correct the articulation errors of the students
It depends mostly on the memory of the students

Enhances speed and accuracy

808 TAS° SPE HAS® Ko SHw

1.

2
3.
4

M[ag et SROLCRRY) Zaééoii;ﬁiiob)

ergize oo SO0 HOTCLSE)

38 ATGY DS FED IO I SEEDE €0enod
K0 SH8Aw PR)BTI) DOFOBOTHD



120. The Academic Standard to be tested through the following
test item

“Write the decimal number 303.03 in expanded form”

1. Representation — Visualisation
2 Communication

3. Connection

4 Reasoning — Proof

Be oY Dreasoosd 808 $8Fr0¥0 tyor HOZOTII).
“GS7ro¥ Doy 303.03 Ko A0 TP

L 85 woweo - éo)%§§6ea

2 5§§édxsoeo

3. ONGISTelnie!

4 SPTETD BIPE - ABTDeren FO50E



121. Natural magnet among the following
1. Bar magnet
2 Horse shoe magnet
3. Ring magnet
4

Load stone

808 AS° Hires ©CHI)080

1. (50803 00

2. KOBHIE @00 080
3. SOCITTT @G0 0B0
4.  SEIS

122. In Celsius scale thermometer each division is equal to (in °C)

DOYEHD 0 66"&33363558 28 .5, darKo deos BIZ
Dsso( °C o8°)

l. 1
2 0.1
3. 0.2
4 10



123.

124.

Planets that rotate from East to West are
1. Earth, Mercury
Earth, Venus

Venus, Uranus

Lol o

Uranus, Neptune

S3E)) 208 DEDHTH BR (5%
1 23070, 22083080

2 8, B

3. BHHKD, 0HBST

4 3505, 3322‘;55

The situation that has only potential energy is
1. flying air craft

2 a rolling stone

3. stretched rubber band

4

flowing water

B (&> SOR 0T D00

2

1 ARB DSeS50

2. S oo

3 FRESBES T3)th 2508
4 FHEF) A



125.

126.

The refractive index of glass with respect to air is 2. Then the
critical angle of glass - air interface is (in degrees)

OSS0R oz S\SSS  Koea%o 2 oS e, md 59D
S0 @Y, $0dKE%0 (Gfod)

1. 0
2 30
3. 45
4 60
Joule is equal to
Colomb
1. 1 Watt
2. 1 Volt
3. 1 Ampere
4. 1 Ohm
% B D50

1 1 0¢5

2 13
o

3. 1 3020508

4 185



127.

128.

The colour of phenolphthalein indicator in acidic medium is

1. Red

2. Pink
3. Yellow
4. Colourless

535 (T5808° RIS XD S5 Bok
1
2
3. SRR
4

The chemical nature of a non-metallic oxide is
1. Acidic

2. Basic

3. Amphoteric

4. Neutral

8% &F)E Boof), TIaHS 250

L esfo

2 FO&0

3. EQ(2T50

4 BE100
@



129. The following gas has rotten egg smell
1. Carbon dioxide
2. Carbon monoxide
3. Hydrogen sulphide
4. Hydrogen

308 IS HYPS F&NE TISKO FA0Y
1 S @ &F)6

2. SERIrTFE

3. TE'mS ¥P)E

4 & e

130. In galvanization, iron is coated with

1. Tin

2. Chromium
3. Nickel

4. Zinc

meoggénses’a VS0P PSS YJrod S50
1 A

2 E*wao
3. 36

4 R08



131.

132.

The material obtained from petro chemicals is

1.

2.
3.
4.

Glass
Metals
Plastics

Wood

S SFaHTe $00é 0B BErYo

1

2
3.
4

e

Sben

FnEew
e

“

IS{O)

The mixture of water and diesel is an example for

1.

2.
3.
4.

Colloidal solution
True solution
Miscible mixture

Immiscible mixture

D 5800 SaSe (Fro EAS &Trse

1

2
3.
4

Feronsd \oPses0
DHE (7530

@
oFBDH (FH0
©FBDH W(FH0



133.

134.

To get ‘Honeydew’ ants keep a type of insects called
1. Aphids

2 Honeybees

3. Soldier ants
4

Drones

TRETS &S BTYo 500 Do DoWHET Sossme
1 &)

2. 333K

3. % ddoew

4. (S0 / oK B3BKen

The joint between the upper jaw and the rest of the head is
1. Hinge Joint
Fixed Joint

Pivot Joint

Lol o

Ball and Socket Joint

BIE%, SOH 3065 &) &en

2

1 025825085 Sew
2. 5509 &en

3. &oKsd den

4 208AT) oo



135.  One of the following is an Indian native crop

l. Tomato

2. Cauliflower
3. Pear

4. Sugarcane

208 FJS° 2 &8 rESBEY TS Hoe

1. S’
2 i\'se‘i)‘ég)é)os
3. 2oé

4. B[S

136. The process of killing larvae inside a cocoon before silk

reeling is

1. Stuffing
2 Sealing
3. Stifling
4 Stalking

Bey o) AN 5005 FEFSE’D EoLTO™ SoD
ATI°Y) JU° DL

L ¥9eR
2. DOoK
3. QoK
4. 3ok
e



137. “The nucleus is an integral part of the cell”. This was stated
by

1. Robert Hook

2 Robert Brown
3. Felice Fontana
4

Jan Swammerdam

“So550, 508" wOSTYHO” I BODIT
1 ooaa§ So§
2. ol @
(V)
3. 20D Foera
4 &R 3‘5353&565"5)

138. ‘Helicobacter pylori’ is responsible for

1. Peptic ulcer

2 Jaundice

3. Uterine cancer
4 Hepeatitis - D

08 ergb 28 e 0 K0

1. P losC (oot eaebg
£9

2 s@oq%

3. Kor)dos soasﬁ

4

TRBES - D



139. The alternative method for ‘incineration’, to burn materials is
1. Hydrolysis
2 Pyrolysis
3. Methanation
4

Eutrofication

RT3 SIBTAOT GATOAY HFBY (PEegmchd HES

1
2
3. FIAN
4

140. ‘Lichens’ are the colonies of

1. Bacteria and Fungi
2. Algae and Fungi
3. Virus and Algae
4. Bacteria and Virus

TE' L0 BT A& DJITEe

L @rSocir $8c5» 3doEes
2. 3soren $H8050 3do|gren
3. DT 508050 ISeren

4. 2rSBasr $HocE» 6T



141.

142.

One of the following is not the sites of taste sensation
1. Fungiform papillae

2. Circumvallate papillae

3. Foliate papillae

4. Filiform papillae

808 TS OIS0 BEFSE0SY HDY BeoE B
1 SoRrSy >oY

2. SISy J"Eﬁfﬁif"i’ag

3. PO >

4 2O>8 ) 28

Find the correct pair with reference to vitamins and their
chemical names

1. A — Ascorbic acid
2 D — Calciferol

3. B; — Biotin

4 E — Phylloquinone

Qe T TIPANS FPITOE D200 BB 235D
K805

L A-e0)F edb

2 D - s9y20°S

3. B —205°8S

4. E-38&SS



143.

144.

The alkaloid that acts as an insecticide is

1. Scopolamine
2 Reserpine

3. Pyrithroid

4 Caffine

8053 EIBTKNE eso) arond

1 ) Fo
2 8:08)

3. po@ané
4 SN

Number of synergids, antipodals and egg cells in an
embryo sac of a flower in majority flowering plants
respectively are

TE RO InY,© P 20588505 BBsAHEeTen,
(BOFESeTen HOH (Q Dassere Hogg SWH

1. 3,2,2

2 2,3,1
3. 1,2,3
4 4,1,2



145.

The important nature of an ‘objective’ —
1. it is abstract

2 it takes long time to achieve

3. it is a long-term goal
4

it is measurable

“e>§§;530” S0y, ;533335 26032,3"335;533

L 30 oSrgosd

2. ROSEIY IS DFANO @S0
3. 388 <5§»S°®§ Ko

4. O Fossm)



146.

147.

As per National Policy on Education — 1986 the percentage of
content to be specified to the local needs in the whole
curriculum is

OAH AT TS0 - 198685 VOO Ingo $0K 00"
LRE BTI0°0LH IIVEIPS JATT0 GOEIOVS TS0

1 20%
2. 80%
3. 60%
4. 50%

John Dewy’s Pragramatism is the basis for the following
method

1. Discussion Method

2 Project Method

3. Lecture Demonstration Method
4 Lecture Method

308 DB YT PRSI 0T SEITIBE DGI I
iSG‘DZag@
(DS HES

SEHT 9GS

)

(on)

FS
=

1
2
3. é‘éa‘g
4

FoS
[5S

é&aa‘g



148. A graphic aid among the following is
1. Flannel Board
2 Bulletin Board
3. Chart
4 Radio

o8 IS° (THE &nsseasn

L3S &
2 2008 2'556%
3. >

4 [oleforey

149. In the laboratory dry sand is to be sprinkled on the flames
when fire accidents take place due to the following reason.

1. Electric flames

2. Liquids that catches fire easily

3. Commonly flammable substances
4. Flames from metals

EErKTeS” 308 STETY SO VRPITE0 SOASY)E
So0eeP FEFWE WS

L d0gS Sooeen

2. Roogiorr IN0ensTS (Sares

3. B0 08 SN

4. S 5009 5T Sowen



150. Accuracy and efficiency of a test can be brought out by this
characteristic feature

1. Reliability
2 Comprehensiveness
3. Validity

4 Interpretability

2.8 98K @¥) PSSR S8 FRY) TGS
©5e30

1 DHOADS

2. OIS

3. BPSreads

4 J"gaﬁsés@oé



